Best model for HELP_J142844.442+350048.441 at z = 1.368 x%=0.91
OPTx?=0.89 IRx?=1.18 threshold (OPT IR)=18.94 [um]

2
10 . Stellar attenuated
i 7 .r Stellar unattenuated

1 M —— Dust emission
10 —— AGN emission
= Model spectrum
0 | ® Model fluxes
10 M oObserved fluxes
> 1071 3
£
x 1072 4
=) E
(TH ]
1073 3
1074 5
107>
=] E
= 1 ]
‘© ] =4= (Obs-Mod)/Obs
3 ]
S
n
o or-r+rm1tvr-rr-—-rnm~—----11N#¢1r----0"1¢—4—————=—=----
) ]
2 1
S ]
o -1 - cGALE
]
[a'd

10° 10! 102 103 10 10° A
Observed wavelength [um] o



